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3[ 9]
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6 6]
[ 1]
[ 4]
[ 8]

G2 A LL—X)

( -0.7
324 7% B
1404k H
175FF

m)
F AR5 (LHZ
e F 5 (FTRAETK)15.19
7 BE5 (FEYa=7HE)15. 36
3743 K BHi A5 (BloomP]T)15.37
1643 B ik 5 (bRV2=TEL) &Ri5
Nl g5 (FES. C)RIG
300% & I FE 5 (AE KR Ri5
6/ L FIH5 (FES. C)RIG
( -0.6 m)
82 3 @ #5 (RUN. j p)15.67
3282 WA A5 (LS ZIiXE)15.72
296)11 O 8 K5 (AEKHkAE)15. 80
206°F B 3£ % 5 (AN LkE F)16. 44
M6~ W k5 (REAMEL#=)16. 69
T L HES (LS X E)16.91
15/ AR fT Ik 5 (enbe B#E) k15
260 KPR £ 5 (774 MiT73x) Ri5
207 K5 ()IIWR C)Ri5

6FEAEARF 100m FE(THIALL—X)

[1#8]
1[ 6]
2[ 9]
3[ 3]
41 7]
50 1]
6[ 8]
70 5]
8[ 4]
9[ 2]

( -0.7 m)

293%E |11 ] M 6 (A= ACHHEE) 13. 28
27110 A 06 (HY2=7)13.85
13278 » & # 6 (FTiREFK)13. 89
13435 M b5 0 6 (TR &) 13. 92
4% Z=w 6 (EVO T.C)14.03
551 A a6 WEVaz=TlEL)14.09
33H ke (LB ZiXE)14.57
377/B8 ¥ K6 (BloomP]T)14.70
267/ B - Fne (NAEY 2=7)14.87

q
q

(248)
1[ 6]
2[ 4]
3[ 3]
41 9]
50 7]
6[ 5]
70 1]
8[ 2]
9[ 8]

( -1.0 m)
255 U 6 (KEF > X)13.25 ¢
127658 A28 6 (AT EF#)13.70 ¢
6/ Ak EH6 (EVO T.C)14.50
2707% H #i 6 (v =2=7)14.50
3802 K E k6 (B (L R C)14.58
21k % ZR Bk 6 (AEAEE)14.76
12970 & K Bh 6 (TR &) 14. 85
2694 K MEFHG6 (IHY2=7)15.18
128#4 [ 4 ¥ 6 (TR &) 15. 62

1£&£)14.68 g



[3#8] (  -0.5 m) [44H]
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8[ 6] 148fx A —6 (XL AC)15.28

9[ 8] 2681 E8 Ath 6 (MAY 2=7)15.94

[5#8] (  -0.2 m) [64H]
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103] 87851 F36 (RUN. jp)13.99

20 2] 92% H “Z=# 6 (BariyEMELR) 1463

3[ 9] 86A & #i X6 (RUN.jp)l4 66

41 4] 161 Iy J& 77 6 (FEV2=7E)15.10

5[ 5] 3434 M {8 Hi 6 Cor K ke #)15. 11

6[ 7] 3820 H K #Z6 (kLR C)15.24
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3[14] 218 Kk B B4 NEHY=2=7)2:56.58 11[10]

40 9] 276 K #I 1= N4 (NHY2=7)2:56.59  12[ 8]
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